FRUFe FEF R ABLA %
114 # B % 3% f 4S9 RE P IHHE
[ B LTI TR ]

AR/ 2 A
vea 7,
FEHEE 1004 FE 24 o

£ 5038 HERE - (F47 Flde)

(1)1 ii TN F PR DR

(D (2) (3) (4)
(3) 2 E A 2 R R
(D

(2) (3) (4)

>




(2) 3 LLEY o EF EBZ 80
(D10 (2)7 (3)8 (4)9 = &) -
(1) 4 TR RPERE S L
2% o
(1) (2) (3) (4)
<4> . y _‘.Lgl\:l ,_t”ﬁg"/l]}"’iﬁa?
“
"
%
'
(1)64 (2)48 (3)52 (4)50 i = b -
(1) 6 LT B R
(1) (2) (3) (4)



NN

(3) (4)

(3) (4)




(4)

(4)

(2)

(3)

1)

10.

11.

12.

13.

14.

FBAE LR A SRR
EVE
f

NN

(1) (2) (3) (4)

PR - L 2 A R R el B A o

WaEF L 8 THRE S FAM S o | Bk

(DA g3 2 LHRE FRIE AR
(2)- B 4 B % g A {g 2

(B) 4+ i = ff o powd § R R A AR
(H)- BERDFF > ok oF LD
BE R B A

MTREZFEAE?
(D& T, s T, (TR # 54 Tay
) "pr s gy 2 (DT 8 T8, 1

(Dwm@ TR %%ﬁﬁ’%ﬁfjiﬁ
(2)# TR Arp HBE - £ ey
(D EE > we-Fa+3

(D2 RE3 B s g - dy

T AR IR eE L FERIT 9

(D42 2 5 FEER (4 e B B g
(3)—: 7 F@%— ; Y rnﬁ’qz (4)3’91£ p_w : _r‘]p;—};%a

4



(3)

1)

(3)

(4)

(3)

(2)

(4)

19.

16.

17.

18.

19.

20.

21.

B PANIEAA G - IR S S s
(DX 7z (2) sk
(- F Dtk =+
BELGET IR EMBRIPLSE RIUGRABREL R ?
(1)F & A4 (2>Jsz/>f-r_a~i=
B &¥Fs (L)HEE -~
TG M WensE > VR- B R 7
(1) Mg, &% REPA e AP s
() TE |+~ 5% kit iTR 462 FITLH
() rd, fet e FH
(4 "3, EHRFRIFE 52 TERL PR ©
faq iz
EEE N NP . L ERLR S
20 bR HFEE Y
(1)—“ ()2 (3£ (DFr

FARGRO Y B FE L PR AP AR
?ﬁ‘i%':"‘?'?— B 7
(DET* 28 % & (Z)m 22 E R
QrEREzEF iz ()2 ~F AL ER
2HE B AT ’as;%ra»‘f,?;’fi g FR T g 5l
B R R RAEAPAEY YRR T
Ao Tl AT
(LT E (2)*xFF 4
() e = R (DHERFNT R &
TAR- iEh s £ A TER Y B op hdy ) g £ ?
(DT 1 Twk s 7 B 4B
(D) prs 7 2R > +F2ap- pik
(Banteg F g > v LK T X 0




(4) 22 THp#henh ko FarE o REE o FALEF
FRERmg o Aa - LA & ke ol

MoorRAAT A R EI K ERREA o 2P R
THGRE T 9
(D#fdg (2)-~- &

(3)p &7 ™ (4)7#Fh %
(2) 23 TAEIEYMFFE Rk ?
(D= "y 5 "E 408 (2) ", Ty R
DFE T, TE, % (D TR F A TR
(4 ) 24, Tier 2B RV A ik 2T HRARA 2 TR A

T~

(DX Fwmit (2)7 A - Af
* 247w (HFrah
(2) 25, £&:
UOlAR AL R G 2&
2 :2&1’%‘%7};@_%% P Rfeh Wi F s A Y

™

7 7%

Nk s e
(1)5 a ,—\;ﬁ’l (2)L a r\‘.—z]rg,
(D)7 A Fe ()7 e han



1)

(3)

(4)

(3)

(3)

1)

1)

26.

21.

28.

29.

30.

31.

32.

S dvm Bt £ 36 A4 0 A KB EH3 B2
S Rl R GG ff LB A Y

(1)65 (2)56 (3)32.5 (4)18 L3 =4

a\aa&%¥£%09Q*$%%ﬁ%E’9*ﬂ§
S8R/ e R LB/ A A RERE

@mm’&;fﬁﬁﬁggiib?

(DT A 10 #(2)1 A 30 #(3)1 A 40 £ (4)1 & 50 F) -

+ B~ & = 31 ”‘5‘\«;\ X R A
abfr%ﬁ“"&mp 9 4 K
PILFEF B9
(133 + (2)34 +
(3)35 * (4)36 + - 3
FRAmE R 280 e R E B LAO0 & o pF R AL
20 4 Lol A Liy N KRR 3920 ~ 0 T35
- LRy RY
(1270 =~ (2)310 =~ (3)370 ~ (4)390 =~ -
FUEALEF I e BT 2B E4a0 A0 ﬁﬂ#ﬁi
s 128 4 P A vk B8]V i B
AR BAY

(1)4999 (2)5000 (3)9999 (4)10000 * -

T D——= 2RI ]=7?

11 '’
(1)— (2) N (3)2 (4)5
ﬁzgﬁmﬁij\,ﬁg\,{z ARE . |

SO PSSR L TR LI A 5
I AN

(1)168 cm? (2)178 cm®
(3)188 cm? (4)198 cm®

7

AN

o



1)

(2)

(3)

(4)

(2)

(3)

1)

(2)

(3)

33.

34.

39.

36.

31.

38.

39.

40.

41.

*E ([J4+2) 8= (2x[J+3) 15 B[ J=7

(1)6 (2)5 (3)4 (4)3 -

(201) 2=(199) >=7

(1)1000 (2)800 (3)400 (4)200 -

Al Lk 0K E L EA BER T L 2T B
pl4 525 & B k?

(110 (2)7 (3)5 (4)4 & -

7o BEc 2003 300 2R EEENE S 48
BPE-EFTOB 6BE-EFT 3B I5BE- £
FIT 120 > Bligtad+ x5 5 5B 2

(1)267 (2)257 (3)247 (4)237 & -

- BEZ &G AL T2 4

B2 oBiERELZ B

RIpt 2 F ) ehm ff L5 27

(1)50 (2)48 (3)46 (4)42 -

R 253 60003 - ¢ - Een3005%F 5 - 3%
P - pen200 3¢ 4 2385 ¢ = pen 003 4 338
GRS 0

11 12 13 14
D555 D550 @350 W350°

B () —2x( =)= 2

(D12 (2)13 )14 W15 -

ZERY §A A2 BEA2 Ak BpE T4
4 A dcfe s 1500 4 0 BT A 49

(1)1000 (2)900 (3)800 (4)700 * -

- i E Y s ﬁ;é_éi%] DS RGE A ?‘“dﬁ%l
49

(1) B g iy (2)= & 5%
G 3 E UENCORE EN U

8




(4)

(4)

(4)

(3)

(3)

(1)

(1)

1)

(4)

42.

43.

44,

45.

46.

47.

48.

49.

FrdT Wikt RY L8 I FZTHRMAEY
%7

(DA Dk OFR (DHFEM -

2SK30 2 ¢+ ~ & &

(1)PNP 21 % o %8 (2)NPN 3| % 5 18

(3)P i g FET (4)N id ;g FET -
ERFIAEZHPI RGN T TR R EEHA T
.

(DT Htl DOFERE DLrd Dt H-

T RERIERL SRR REDE T R
Bg PR R B

(1)-kiE T (2) R %7 1

B)EHAWTIE (HRFET I -

P 1GHz 2o G HLAAPE > @ R R BRI T 7
(D&E (O3B FE QFHEr-E (DXY 7 %
I 3218 ;% (Average-type) 2. DMM> # 14 £ B~ 5o~ f&
AC L2522 TR?

(Drszgk ()2 & 3k (DX E2Z B3 o
GPIB %o 2 @ik A4 B3 > F LG T 7[vi- f&#
e ?

(1)»]’{%@:-“,5‘ (Listener) (2)% 3 -“,5‘ (Talker)
(3)}3";%'1**5 (controller) (4)@%3?**5 (source) °

7ok B INT(Internal )i 3 o3 p > H 8 2 52
(D2~ F () kT F

(DAC TR E. (4)hR(EXT) 3 5L

— =T A (DM 8 R ™ F v h Sl B 5 B 7
(1R (2)ACV (3)DCA (4)DCV -



